Best model for HELP J161518.297+533511.066 at z = 0.529 x2=43.49
OPTx2=54.9 IRy?=17.3 threshold (OPT IR)=12.23 [um]

1 . Stellar attenuated
102 E S T e Stellar ullﬁat.tenuated
E . m —— Dust emission

—— AGN emission

1 _ . = Model spectrum
10 E : o ® Model fluxes
] : M oObserved fluxes

10° -

Flux [m])y]
|_I
(@)
AN
!\‘
5 b
\o

=

0-3

<
_
P Juaul L

=f= (Obs-Mod)/Obs

o
1
I
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

1
1
1
1
1
1
1
1
1
1
1
1

I
=

T T L | T UL | T T TTTTT T UL | T L EM
10° 10t 102 103 104 A
Observed wavelength [um]

Relative residual flux



